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a. Reduce the network shown in Fi
using source shift and source

ffiffi

Fig.Q2(c)
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3a,

\o Jl-

f-l_10

"r" -' v?
State the maximum power tansfg6;frbOrem and also prove.th ' P.u*=-th-' where

"* "'fi*nt:--^ 

-*- t^-:t' = 
,rc^ 4Rr-

vtl = thevenins voltage. ,,",,*."-,,,* - "-S " (08 Marks)

,J j: oR '*
s

obtain the Thevenin's equiypMfu of the circuit shown in Fig.Qa(a). (08 Marks)

Using superpositio, 1ffi5fr", find the currentr,rye resistor in the network shown in

Fig.Q @). iut 
I ,-

::,,1*,i"n- I" I.,,. -ih 'E I

f ,"''::; f=J'f-E
* Fie.Qa(a) q -. . Fig'Qa@)

/qi :r::::::rfri\ry
5 a. In the network shown ifii@Qs(a), K is m position 4:: '41 t : 0. Solve for i,

4uro * un:0*, if n"= 1000e, L:,flI,*C = o.lpF and v = toov. Assume that the

dt 
----- dt'

. -,. id r I :a

ot ot
capacitor is initially uncharged.
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j-
rffiv 'lJtr'

q*:i:,. ,:: ,,',{&r. !-, ..!r (09 Marks)+-''w:'j 
shown in Fig.Qs(b) using Laplaceb. Determine $rc-ffifonse currentry(t) in the circuit r

transform.-*', .;*i,"r Ui '.!{ -"" "; I A- tutransform. qi*',$ 
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1sEC34

./ tt)

oR #**
,"d* 4+&.j'

6 a. Synthesis the waveform shown in Fig.Q6(a) and find $hffidlace transform of the periodic
waveform. d fumryr (08 Marks)

t'/tt) ffi

(08 Marks)

'tory- 'ffiw@
.{. ,::ir {'retr @7(b)"fitr tu d (07 Marks),rili*trfiflsii.!. & tr fu"*$B''\,,

Derive the expr&oibns of a res#fiflmce frequency and dynamic impedance of a parallel
resonance circuit. +'. * -, (09 Marks)resOnan0e clt;,Q,ll{. y*i*}'y (09 Marks)

b. A coil ha$\g'= z}tl-,L = 8ffi and C = l00pF are connected in series. Determine :

i)i
K= 20C), L = 8ffift and C = l00pF are connected in series. Determine :

at resonance iipresonance frequency iii) quality factor iv) circuit current if
: is 50V. _@ (07 Marks)supply voltage is 50V. 4@ (07 Marks)
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(08 Marks)

= zzt =10{2. Find
(08 Marks)
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